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Dr. Katiraie MA160 Quiz l(Sections 0.1---0.6) Summer 08 .p.:;~ tV1 Ii 

Name Sd..... ~~ Total Possible Points = 20 Points 

Show all your work. 

2 -1
1. Let g (x) = x - 6x + 5 and f (x) =- x + 20 (3 points)

2 

Find x when g(x) = 0 

2­
X-~K+5"~() 

( X - <J) (,/ _. \] := ~ 

Cx:;-§) fL~ 

2. For the linear function - 3x + 9y =30 
SHOW work to find each of the following q~ ;, 3 K+30 (2 points) 

q ~. .0­. _\
a) The slope IS 3 J = ; X+ :51) 
b) The y-intercept is -~) ?.f;) ~-== _\ f.... i- 50 

<J ~ ~ T 

c) The x-intercept is fr 0" ~ 

3. The length of a rectangular room is 4 feet more than its width. If the perimeter 
of the room is 100 feet, find the width and length of the room. (3 points) 

xx 
X+Lf- X::g

4--
-23

} r);'\ ...~) 

..L,")'J' "r_~" 



---

4. Solve the following equations: (4 points) 

a. 2x
-=3 b. -

3x+ 1 2x-1 -­
x+1 -( 7 2 

2(3Kfl) = 7(2'1.-03X+-3 == ZX 
bX+L = 1~-7X+3 :=0 

_·?X == -,l~ ~ -3] 

f! t]5. Solve the following: Ci (4 Points) 

a) x2 81 0 b) y2 -6y = 7 c) 9x2 -64 =0 2x -3x=40 

(X-t-V (X -9) ~ 0 'J~b~ -7 :: (J ~K+~6t-{;) 0 

X'2 3X­ lfo .=0

tJ-7)(y+-U ~o ~-B~-1 __) C)(-~JCy+~=o 
l~ 1] 0i~ -l) (§JED a ~x=-~ 

(4 pts) 

I I 
b) JX.$ - '/....L 'A3 

'3+"2­
=X- b -X?) 

d) -5x 3 

-S­
~. ~-

X3 j-

6. Perfonn the indicated operations. Simplify your answers. 

3 

~]J(X 
2 
)'a) -y6 

c) ~X7 
= -=:iD 

2.1­ ~/1- .lfOf )--

I 
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Dr. Katiraie MA160 Quiz 1 Form B (Sections 0.1---0.6) Summer 08 

Total Possible Points = 20 PointsName _---!..._'------­

Show all your work. 

1. Let g (x) =x2 
- X - 6 and f (x) =--1 x+10 

3 

b. Find x when g(x) = 0a. Find x when f (x) = 6 

b -( 
X~X-6 =D=. -X +1 D 
~ 

(0 ..3 
It/ \ ~ \-10 
(~X - 3) C'X -f-- 2:J == 0

-If =:-.Lx 
~ /_3] lx~_z-J 

i...-.__-'@. ~~) 

2. Solve the following: 

(3 points) 

c. Find g(a+1) 

~ ,- (a+Orz-- (a+y -­

'Z /
 
~ a-+- ZtLTf - Q/71 -6 
=~L_t-O-~=6J 

(4 Points) 

a) x 2 -81=0 

~+!J(X-9) == 0 

'-/=-97 ([= =i)­

3) For the linear function 

b) y2 -6y =7 

i}L_ 6j _f} =- r) 

(~-'d (J+{)~O
 

~ '1 ---Or)
U- J-= ­

. --. " 

-5x+ 5y =30 
SHOW work to find each ofthe following 

a) The slope is _-,-L__ 

b) The y-intercept is (£)~) 

c) 9x2 -64 =0 x2 -3x=40 

0x+'6)6x-~~=o-
e~}J x. 2.-3X-4o ::. 0 

tt-~(x+~=o 
~ 

(
/ 

X.=:~ ) 
~-= -5) 

(2 points) 

The x-intercept is ~ tooJ V 



4. The length of a rectangular room is 6 feet more than its width. If the perimeter 
of the room is 200 feet, find the width and length of the room. (3 points) 

>< 

x+ 
X+X-f-G +X+ IK-f-b=:ZOO P::i£-=- if71ed 
4x +1'- == 200 f.fft '= 53 -ted 
4-X = !'g'6 Cx~ 1-7/0 

5. PerfonD the indicated operations. Simplify your answers.	 (4 pts) 

a) - X(x'r
3 

-
3 

y6 ­
~Y
 

c) ~X7 
}L 

­

~ X 3 ~ z. 
.::=)( lfX 

I t 
b) £.$ ~ X '2­ X""3 

== X-L+t = if) 
d) -5x-3 

- -5-
-X-3 

6.	 Solve the following equations: (4 points) 

3x-l 2x+3 a. ~=4 b.	 -=-­
x+4	 7 2 

4-X-t-/h ~Z--X 

2X :::= -I' -8>(-=2.3 

ex = -SJ] 
e=~ 

I 


